EARAROBREBRT —5 XN—ZXBISH—F

2023F11816H (A 18EEHIE

B 2 mARBF— USSR 2% ‘(fﬁl g ‘[%EH%FEEH - | & 12000 =
[xE<] 1 & :1,000,000 . 23 :400,000 . 33&:250,000 4 3&:150,000 9 . 5 & :100,000 /3
B\ RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
o = 2 | Mkl 1:34.1 7-6-7-5 |40.7| — | 5 | 458 |RFIRT (EE)
1155 | NANTSDT— i 54.0 ) @) | B A—ILAZ K
RIVVIRFAvIDFUTF— B:S5T—URNA e
. > SEE :34. -6-3- . — MEE—ER (EMH)
5 3| RI—F ALY %2 | BH 1(73;1:; 6-6-3-2 | 40.8 1 (4&1) e
RIIZART—ILYF— B4V U—=T KEBUS
3 [EREA :34. -4-5- . - EM=Z (EM)
31| 1| b=ITRKT—IL %2 | En 77 S AR R > =R
RIIART—IYF— B:HALY I EYFARID NIFHIT—L
Sy » 2 | TTRNE 1:34.5 1-1-1-1 | 41.7| — 2 | 460 |ASHIt (FEi)
Al 2| NFZVAYITEX MR ) (3 | @ e—Fovzon
Ry d—=FILYIT B:7ILIIY+IS maliLe]
= w R #o2 | KHEA 1:34.7 22-2-3 | 41.8| — | 4 | 451 |EH (@)
sl 4| TALFYR 5.0 (30t (o) | HLER
RiE—FNhO—I B:NYITVY— INGHE ES
. EE :34, 878 |41.2| - A (W)
A . BEIZ: P 2R [Er- A A R © 0 |Emaa
R:ZX—hT7IVIY B:T7O-LY—F PIRI BEA
o g Ho2 | ROHET 1:34.9 5-5-6-6 | 41.7| — 7 | 45 |HEX (@)
7178 | 7T /Y1EY 55.0 (3/4) (+5) %#%E;e
RiFRIAMVL—Y B:5TU—HYUF— "R BR
= . % 2 | BEE 1:35.1 3-3-4-7 |4R.0| - 8 478 | tEIREHES (FhkE)
81810 THAYI—R 55.0 (1172 (-q) |WEHIR
R:EVFOYY H:aUvdUv AN
5 3 # o2 | 2K 1:35.1 9-9-9-9 |41.4| — | 9 | 406 |FEHHEE EE)
9(7|7|V—orO-—t 0 F5%) o |EEEE
RiIL—ISZASIL BUN—FANL ISP
=t # 2 | AR—H= 1:38.7  [10-10-10-10 44.3 | — | 10 | 433 |fEAE— (@)
10/8| 9| EOF=ZHTE 55.0 (I4H) (7) |EEAE
R:I—FYNO—R B:FLSEYO— B J7—L
@ 1—F—&BIE(I
1J—3— 2,4,10,1,8,3,5,6,7,9
20—F— 2,4,10,1,8, (3.,5).,6,7,9
BEIES /S 2,4,3,10,1,8,(5,6),7,9
41—73— |2,3,4,1,5,8,10,6,7.,9
[ BN
B B 5 1,760 | | 94 K 3-5 480 | | # 3= 3-5 1,650 | | &R 1-3-5 3,000/
B ks 5 290 1-5 990M | | &5 = 3-5 1,280M9 | | 3:&& 5-3-1 25,720
3 120/ 1-3 270/ B H 5-3 4,540/
1 180M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



